1.	The distance of the Earth from the Sun at a particular moment is 93.5 million miles.


a	Write 93. 5 million in standard form.





The distance of the Earth from the moon at a particular moment is 2.5 ( 105 miles.


b	Write 2.5 ( 105 as an ordinary number.





c	How many times further is the Earth from the Sun than it is from the moon? Give your answer in standard form.


/5


2.	a	Write down the value of


	i	50	ii	43	iii	6 ( 3


/4


3.	Express 0.327 ( 105 in standard form.


/2


4.	Do NOT use a calculator for this question.





Work out 413 ( 53.


/3


5.	It takes 6 men 8 days to build a wall. All the men work at the same rate. 





How long would it take 4 men to build a wall the same size?


/3


6.	Cedric buys 12 pencils for £3.48. Work out the cost of 20 pencils.


/2


7.	Work out:


a	i  5/6 of £24.12 		b	Change 2/9  into 


	ii  22% of 30 metres. 	i  a decimal	ii  a percentage.


/7


8.	Malika's father won £148. He shares the £148 between his three children in the ratio 6:3:1. Malika was given the biggest share.


a	Work out how much money Malika received.





Malika saved 2/5 of her share.


b	Work out how much Malika saved.


/6


9.	Use your calculator to evaluate:





520.3 ( 10.3


 (0.3 + 4.2)2





Write down all the figures on your calculator.


/3


10.	Michelle goes to France for her holiday. She changes £80 into French francs. The exchange rate is £1 = 9.50Ff





How many French francs should Michelle receive?


/2


11.	Shreena put £400 in a new savings account. At the end of every year, interest of 4.5% was added to the amount in her savings account at the start of that year.





Calculate the total amount in Shreena's savings account at the end of 2 years.


/5


Total marks:  42


�
:  Answers





1.	a)   9.35 ( 107	b)   250 000		c)  93 500 000 ( 250 000 = 3.74 ( 102


/5





2.	a)	i) 1		ii) 1/16                      b) 1/8 ( 2=1/4


/4





3.	3.27 ( 104


/2





4.	   453


(__73


  	  1359


31710


33069


/3





5.	1 man takes 6×8 = 48 days


4 men take 48÷4 = 12 days


/3





6.	1 costs 3.48 ÷ 12


20 costs 3.48 ÷ 12×20 = £5.80


/2





7.	a)	i) 9.60÷8×5 = £6


	ii) 35×24÷100 = 8.4 m


b)	i) 3÷8 = 0.375


	ii) 3/8×100 or (I)×100 = 37.5%


/7





8.	a)	6 + 3 + 1 = 10


	128/"10" = 12.8


	6 × 12.8 = 76.8 = £76.80


b)	"76.8"/3 ( 2 = £51.20


/6





9.	11374.09_  =  11374.09 


(0.2 + 4.5)2       4.72





= 514.89769...





/3





10.	9.50 × 80 = 760Ff


/2





11.	484 × 4.3/100


484 + 20.81 (= 504.81)


504.81 × 4.3/100 = 21.7069


504.81 + 21.71


OR


484 × 1.043 = 504.81


"504.81" × 1.043 = 526.52


OR


484 × 1.0432 = 526.52		Accept £526.51 or £526.52


/5


Total marks:  42
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